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57  Consider the following statements. 
 1. It is a man-made and man-managed wetland.  
 2. It hosts a rich bird population. 
 3. It is a World Heritage Site. 
 4. It is placed on the Montreux Record under the Ramsar Convention. 
 The above refers to? 
 A. Loktak National Park B. Gopalpur on Sea National park 
 C. Sultanpur National Park D. Keoladeo Ghana National Park 
58  Gharial population in India is declining and at threat due to which of these potential reasons? 
 1. Getting entangled in fishing nets 
 2. Removal of sand from its habitat riverbanks 
 Select the correct answer using the codes below. 
 A. 1 only B. 2 only C. Both 1 and 2 D. None of the above 
59  Which of the following brings out the ‘Consumer Price Index Number for the Industrial Workers’? 
 A. Reserve Bank of India  B. Department of Economic Affairs 
 C. Labour Bureau  D. Department of Personnel and Training 
60  Consider the following statements. 
 1.  CRISIL is a global analytical company based in India, in which the Government of India is a major 

stakeholder. 
 2.  CriSidEx is India’s first “business sentiment index” for micro and small enterprises (MSEs) developed 

jointly by CRISIL and SIDBI. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
61  Consider the map that shows the distribution of a particular species found in India.  

  
 The shaded area in the map is the natural habitat of? 
 A. Emerald dove B. Great Indian hornbill C. Indian roller D. Black necked crane 
62  Endowed with one of the highest eco-systems in the world covering varying eco-clines from 

subtropical to arctic, this national park hosts many glaciers including Zemu glacier. The park is? 
 A. Nokrek National Park  B. Namdapha National Park  
 C. Dibru-Saikhowa National Park D. Khangchendzonga National Park 
63  Consider the following statements regarding Productivity of organisms: 
 1.  Primary Productivity is defined as the rate of formation of new organic matter by the major 

‘Consumers’ of the ecosystem. 
 2.  Primary productivity depends on the plant species inhabiting a particular area, environmental factors, 

and availability of nutrients and photosynthetic capacity of plants. 
 Which of the above is/are correct? 
 A. 1 only B. 2 only C. Both 1 and 2 D. None 
64  “Special purpose vehicles (SPVs)” often seen in news are related to 
 A. Underwater observatories in Arctic B. Military operations 
 C. Wilful defaults on bank loans D. Project investment and execution 
65  The replacement of CFLs with LED lights is likely to be ecologically beneficial because CFLs contain 

this element and LEDs do not. It is? 
 A. Mercury B. Lead C. Nickel D. Copper 


